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A B G D = B (5 H
1 | FEHFS | 1ER | (REE | B8l | (REE | S5 | REE | B
2 1 43 45.6 g 65.4 130] &74 12
d 2 a1 44.0 i 2.1 ke, 43.7 a7
4 J a7 48.1 Fils 61.4 113 435 24
o | 4 28 d2.0 78 627 108 4.5 30
4] 5 25 2599 42 d45.8 67 297 50
7 a] ol oid 48 3461 B 42 4 48
g 7 67 0o.6 G5 241 132 0.2 10
5 & 47 44.3 43 428 85 420 44
10 H fA 61.3 B 45.5 123 o243 18
11 10 83 655 o 508 143 3.1 o
12 11 45 43.6 48 3461 83 d6. 7 47
13 12 3 Do 7z 0o.0 135 0d.5 g
14 13 oy 21.8 g4 J2.2 g9 4.3 42
15 14 43 422 aof 441 83 41 1 40
16 15 fis 64.0 P D21 137 G4 7
17 16 47 44.3 48 3461 g5 476 45
18 17 0o 004 a4 43.5 g9 4.3 42
15 18 40 402 B 45.5 i 407 41
200 15 47 44.3 G5 241 112 43.4 26
21 200 26 0.6 ol 45.4 g4 472 46
27 21 i 083 aof 441 118 821 22
23 22 3 Do.d i 2.1 131 o578 11
24 23 G5 oz B 45.5 117 1.6 23
25 24 aof 470 fis 60,7 125 002 16
26 25 a1 44.0 43 428 Fi= d45.0 45
27 26 45 45.3 75 G627 127 0.0 14
20 27 47 44.3 4 03.4 111 43,0 27
25 28 G5 oz Fof 574 135 095 g
J0 29 3 Do.d 48 3461 101 44 6 43
a1 J0 a3 354 i 2.1 101 44 6 43
J2 ) 1= Do.g &4 45.5 123 o243 18
J3 g2 0o 004 &4 45.5 105 43.1 20
34 33 B 45.3 43 428 100 4472 45
5 34 73 627 g 65.4 155 5.3 g
36 35 fis 64.0 Bz J2.0 167 736 ]
a7 36 83 45.0 Fils 61.4 125 SR 13
a8 37 Fo 606 78 627 148 653 4
J5 a8 3 Do.d aof 441 113 435 24
40 39 43 45.6 s 45.4 108 46.59 30
41 40 o] 470 od 45.59 104 45.5 g2
42 4 45 45.6 s 61.4 124 od. 7 17




43
44
45
45
47
45
49
50
51

52
53
54

42 GE| 593 EEl 494 126] 556 15
43 86| 715 78| 627 164 7243 i
44 S| 595 2| 455 121 534 20
45 5| 504 4| 468 108] 481 28
46 7| 586 2| 455 119]| 525 21
47 48| 4463 51| 448 100 442 35
48 38| 388 Ol 441 88| 385 44
45 43| 422 26| 282 5ol 306 49
50 3| 550 78| 627 141 G2 i

1 54.4 £3.8 113.3

1 {RmE 14.7 15.0 22 8
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